

Suma o resta i simplifica el resultat:

$$\text{a) } \frac{2}{25} + \frac{3}{25} = \frac{\square}{\square} = \frac{\square}{\square}$$

$$\text{mcd} (\square \text{ i } \square) = \square$$

$$\text{b) } \frac{2}{18} + \frac{1}{15} = \frac{\square}{\square} + \frac{\square}{\square} = \frac{\square}{\square} = \frac{\square}{\square}$$

$$\text{mcm} (18 \text{ i } 15) = \square$$

$$\text{mcd} (\square \text{ i } \square) = \square$$

$$\text{c) } \frac{4}{6} - \frac{7}{15} = \frac{\square}{\square} - \frac{\square}{\square} = \frac{\square}{\square} = \frac{\square}{\square}$$

$$\text{mcm} (6 \text{ i } 15) = \square$$

$$\text{mcd} (\square \text{ i } \square) = \square$$

$$\text{d) } \frac{4}{24} + \frac{7}{36} - \frac{1}{6} = \frac{\square}{\square} + \frac{\square}{\square} - \frac{\square}{\square} = \frac{\square}{\square} = \frac{\square}{\square}$$

$$\text{mcm} (24, 36 \text{ i } 6) = \square$$

$$\text{mcd} (\square \text{ i } \square) = \square$$

$$\text{e) } \frac{15}{75} + \frac{4}{100} + \frac{18}{30} = \frac{\square}{\square} + \frac{\square}{\square} + \frac{\square}{\square} = \frac{\square}{\square} = \frac{\square}{\square}$$

$$\text{mcm} (75, 100 \text{ i } 30) = \square$$

$$\text{mcd} (\square \text{ i } \square) = \square$$